
Fitting instructions
Make:

Type:
Colt; 2006->
Mitsubishi

4084



M10x80 (10.9) 

M8x20 

M8x20 

M0x35 

M0x35 

M8x25 

M0x50 
M0x45 

M0x45 

M0x35 

M0x35 

Self-locking 

M0x35 

4084/5 

4084/13 

4084/11 

4084/8 

4084/10 

4084/14 

9545043

9531264
9520064 

4084/50 

© 408470/16/03/09/1



408
4

4084

© 408470/16/03/09/2

(2x) M10x80 (10.9)

(11x) M10x35

(3x) M10x45

(15x) M10

(2x) self locking M10

(17x) M10
(2x) M8x25

(8x) M8x20 (8x) M8

(10x) M8

(8x) M8

(2x) Backing strip

(1x) ø18x3,5 L=15
(1x) M10x50

Y  t
brink.eu

CARLOS
tested

EC9420 
approved

Brink BMC
Usermanual



tested
euro

Approved

Approved

Approvede11 00-5113

8

10

RAYMOND

kg

kg?

50 kg

10.9

8.8

© 408470/16/03/09/3

D-Value :        kN

94/20/EC

Couplingsclass: A50-X

5,0

MODIFICATION?

1713

ø9mm



HINWEISE:

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchst-
zulässige Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.
Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben.

* Elektrische Anlage gemäβ StVZO anbringen.

© 408470/16/03/09/4

M8 13 23 Nm

M10 17 46 Nm

0km
+

1000km

NOTE:

* Should this installation process entail the cutting of the bumper – con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Brink International do not accept
responsibility for any matters arising as a result of this miscommunica-
tion.

M10 17 60Nm (with self-locking nut)



1
© 408470/16/03/09/5



32

97 11

Cut out

Underside bumper

32

Underside bumper

2
© 408470/16/03/09/6



5

4 6
© 408470/16/03/09/7

Only for Ralliart

3

RHS



8

ø9

7
© 408470/16/03/09/8

RHS+LHS

ø9mm

RHS+LHS

RHSLHS



© 408470/16/03/09/9

M8x20

9a

13

23 Nm

M8

4x

LHS

(4x) M8x20

(4x) M8

(4x) M8

(4x) M8

CZT (Turbo)

Fig 13

M8x20

M10x35

9b

LHS

CZT (Turbo)

Fig 13

13

23 Nm

M8

4x

(4x) M8x20

(4x) M8

(4x) M8

(4x) M8

17

46 Nm

M10

2x
(2x) M10x35

(2x) M10

(2x) M10



1
32

4
1110

5mm

© 408470/16/03/09/10



M10x35

M10x45

M10x35

ø18x3,5 L=1,4

M10x35

M10x35

M10x45

M8x25

M10x50

ø18x3,5 L=15

12

17

46 Nm

M10

13x
13

23 Nm

M8

2x

13

Only for CZT

14

© 408470/16/03/09/11



M10x80

Self-locking (10)

15

17

60 Nm

M10

2x

(2x) M10x80 (10.9)

(2x) M10

M10 (self-locking )

16

© 408470/16/03/09/12



© 408470/16/03/09/13

17

18



© 408470/16/03/09/14


